> ~57, [ Il I SNy SV IR . S =
R30S R RIE ST S E IR AT E R
(£ HiH)
K4 Eaara ANFER
JIZ AL fLE] 7 280
=5 FLE] 6 240
= 1 40
1= FLE] 3 120
B fLE] 7 280
B A 7 280
BE e we 3 120
a3 i 1 40
I 1 40
A 1 40
ik A 1 40
BT 1 40
e g3 e 3 120
B % A 1 40
[ZES A 5 200
B 3EE 1 40
= 1 40
[ZEJ=E3 RERT 1 40
RE LY 1 40
BT A v 1 40
ANA i 3 120
FGA 7T A 1 40
T I 1 40
ER AT A 1 40
R L5 1 40
PHE 1 3 120
RS 1 40
A6 FL] 8 320
AR FL] 5 200
FEVREYE 1 40
AR AR FL] 5 200
pEE 1 40
B E VR A 1 40
RK=8%n FL] 1 40
SR TE FhOE R 1 40
EERl 1 40
IR s ain 1 40
BT 1 40
HhHET A 1 40
[[EPA 1 2 60
~HI 1 1 40
E[ES wa 5 200
FA LB 1 9 360
FAILIFE AR EL] 8 320
e 1 40
AR i T YA 1 40
AL NS 1 9 360
R 1 1 40
INEEES 1 9 360




Eaara TIER
AL T3 3 1 40
B TRk 1 40
B 1 40
B 1 40
T¥> 1 40
e 1 40
TR 1 40
At 1 40
FAILIPE = 2 80
PEIERR BT 3 120
I B % A 1 40
B E YR A 3 120
R A 6 240
e 2 30
IREAN s 1 30
R 1 30
/INH FL] 2 60
FYEE )T 1 40
[5e] == J7it 1 1 40
s 1 40
AETER 1 40
BRBEBHIE 1 40
e HAKPE 1 40
FH¥ A 8 320
K i 4 160
e 1 40
KIMNEFE EPERLE 1 40
BT YA 1 40
Kk L] 2 60
N~ - E 3 120
J\ I e 1 4 160
e 1 40
I\ ke T3 i A T 1 40
Rk %0l 1 40
)12 we 3 120
= I ] 2 60
— 1 2 60
FH0 1 2 80
W) T 1 40
B AT 1 2 80
HE 1 40
TR B 1 3 120
e 1 40
e 2 30
B E V% A 1 40
FHN K PE JKPER i 1 35
K P B B 1 35
HEER N 1 35
= H 1 2 80
FEMR S T 1 40
B XU, 1 40




TR Eaara EE e ANFER
= It S 1 30
= R 1 30
Je5=Hn fLE] 2 80
AEPER b 1 40
s s 2 60
T S A 3 120
B¥ 1 40
& i 237 9, 305
(REFEH])
T4 Eaara FARRER ANFER
JIZIT g 1 40
Y g 1 40
[EES A 1 40
eRi=Y L] ] 1 40
FA LU i 1 40
AL T 3E HE bk 1 40
s 1 40
INEES e 1 40
KM RIS f 1 40
J\ I e i) 1 40
FRE R P 1 40
& g 11 440
GafzH)
T4 TR ANFER
FA LR 1 300
(HHBRL
B R ES e NFEH
3k
RN S K PE HEES 1 10
K FEHE R 1 10




